INDUSTRIAL PRODUCTS GROUP

PARTS &
CCESSO RIES
ATALOG

APRIL 1, 2022

The Power Behind Performance

Vara

7 BATIERY

SINCE 1926
WWW.CROWNBATTERY.COM



[/72"7 BATTERY \ TABLE OF CONTENTS

SECTION DESCRIPTION NUMIE
SECTIONA | JARS 3-4
SECTION B CELL COVERS 5
SECTIONC | INTERCELL-ENDROWS 6
SECTIOND | SHROUDS 7-8
SECTIONE | LEADHEAD 9
SECTION F CABLES 9
SECTION G CABLE ASSEMBLIES 10-13
SECTION H BOLT-ON LUGS 14-16
SECTION | CONNECTORS AND CONTACTS 17-20
SECTION J VENT CAP 21
SECTIONK | OPERATING SUPPLIES COST 2
SECTION L CHEMICALS 23
SECTIONM | BATTERYWATERING TECHNOLOGIES | 24-25
SECTIONN | FLOWRITE 26-27
SECTIONO | PHILADELPHIA SCIENTIFIC 28-29
SECTION P BATTERY EQUIPMENT SUPPLY 30
SECTION Q CHARGING TECHNOLOGIES 30
SECTIONR ECOTEC 31

TAKE 10% OFF | TAKE 15% OFF

- ORDERS $250-$999.99 | ORDERS $1000 & MORE |
**EXCLUDES SECTIONS L - R**

WWW.CROWNBATTERY.COM 2



@57 BATTERY ‘ SECTIONA JARS
PART NUMBER DESCRIPTION NOTES
501-4001 5 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4004 5 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4009 5 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4031 7 PLTSTD 13" JAR BLACK 45 AH
501-4033 7 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4030 7 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4034 7 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4032 7 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4064 9 PLT STD 13" JAR BLACK 45 AH
501-4066 9 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4060 9 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4062 9 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4061 9 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4099 11 PLTSTD 13" JAR BLACK 45 AH
501-4097 11 PLT STD 15 3/4" JAR BLACK 55/60 AH
501-4092 11 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4091 11 PLT STD 20 1/2" JAR BLACK 75/85 AH
501-4095 11 PLT STD 23 1/4" JAR BLACK 90/100 AH
501-4090 11 PLT STD 28 1/2" JAR BLACK 125 AH
501-4129 13 PLTSTD 13" JAR BLACK 45 AH
501-4127 13 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4125 13 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4120 13 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4122 13 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4121 13 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4155 15 PLT STD 13" JAR BLACK 45 AH
501-4152 15 PLT STD 15 3/4" JAR BLACK 55/60 AH
501-4151 15 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4154 15 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4150 15 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4188 17 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4180 17 PLTSTD 20 1/2" JAR BLACK 75/85 AH

WWW.CROWNBATTERY.COM



@57 BATTERY ‘ SECTIONA JARS
CONTINUED

PART NUMBER DESCRIPTION NOTES
501-4183 17 PLT STD 23 1/4" JAR BLACK 90/100 AH
501-4181 17 PLT STD 28 1/2" JAR BLACK 125 AH
501-4216 19 PLTSTD 13" JAR BLACK 45 AH
501-4211 19 PLT STD 15 3/4" JAR BLACK 55/60 AH
501-4219 19 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4210 19 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4213 19 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4214 19 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4244 21 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4242 21 PLTSTD 20 1/8" JAR BLACK /5LAH
501-4240 21 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4241 21 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4243 21 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4277 23 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4270 23 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4273 23 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4271 23 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4308 25 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4314 25 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4300 25 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4302 25 PLTSTD 23 1/4" JAR BLACK 90/100 AH
501-4301 25 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4337 27 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4330 27 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4334 27 PLTSTD 28 1/2" JAR BLACK 125 AH
501-4366 29 PLT STD 15 3/4" JAR BLACK 55/60 AH
501-4360 29 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4391 371 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4393 31 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4390 31 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-4421 33 PLTSTD 15 3/4" JAR BLACK 55/60 AH
501-4422 33 PLTSTD 20 1/8" JAR BLACK 75LAH
501-4420 33 PLTSTD 20 1/2" JAR BLACK 75/85 AH
501-1486 33 PLTSTD 23 1/4" JAR BLACK 90/100 AH

WWW.CROWNBATTERY.COM



[/72"7 BATTERY \ SECTION B CELL COVERS

PART NUMBER DESCRIPTION TYPE NOTES

502-3005 5 PLTSTD Cover HS W/ Bushing Heat Seal Includes 1 Bushing
502-3010 7 PLTSTD Cover HS W/ Bushing Heat Seal Includes 1 Bushing
502-3015 9 PLTSTD Cover HS W/ Bushing Heat Seal Includes 1 Bushing
502-1025 11 PLTSTD Cover HS W/ Bushing Heat Seal Includes 1 Bushing
502-1035 13 PLTSTD Cover HS W/ Bushing Heat Seal Includes 1 Bushing
502-1045 15 PLTSTD Cover HS W/ Bushing Heat Seal Includes 1 Bushing
502-1055 17 PLT STD Cover HS W/ Bushing Heat Seal Includes 2 Bushings
502-1065 19 PLTSTD Cover HS W/ Bushing Heat Seal Includes 2 Bushings
502-1075 21 PLT STD Cover HS W/ Bushing Heat Seal Includes 2 Bushings
502-1085 23 PLT STD Cover HS W/ Bushing Heat Seal Includes 2 Bushings
502-1090 25 PLT STD Cover HS W/ Bushing Heat Seal Includes 2 Bushings
502-1095 27 PLT STD Cover HS W/ Bushing Heat Seal Includes 2 Bushings
502-1100 29 PLT Cover - CTR Vent HS W/ Bushing Heat Seal Includes 3 Bushings
502-1105 31 PLT Cover - CTR Vent HS W/ Bushing Heat Seal Includes 3 Bushings
502-1110 33 PLT Cover - CTR Vent HS W/ Bushing Heat Seal Includes 3 Bushings
502-1030 11 PLT Wide Cover HS Wide Cover Includes 1 Bushing
502-1040 13 PLT Wide Cover HS Wide Cover Includes 1 Bushing
502-1050 15 PLT Wide Cover HS Wide Cover Includes 2 Bushing
502-1060 17 PLT Wide Cover HS Wide Cover Includes 2 Bushings
502-1080 21 PLTWide Cover HS Wide Cover Includes 2 Bushings

WWW.CROWNBATTERY.COM 5



[/7727 BATTERY \ SECTION C INTERCELL - ENDROWS

PART NUMBER DESCRIPTION UoM NOTES
509-3015 2-1/8" Inter-Cell Connector - SL(5 PLT) EA
509-1015 2-1/8" Inter- Cell Connector - LG (5 PLT) EA
509-3016 2-3/4" Inter-Cell Connector - SL(7 PLT) EA
509-1016 2-3/4" Inter-Cell Connector - LG (7 PLT) EA
509-6210 3" Inter-Cell Connector - SL(ALL) EA
509-6005 3" Inter-Cell Connector - LG (ALL) EA
509-6215 3-1/4" Inter-Cell Connector - SL(ALL) EA
509-6110 3-1/4" Inter-Cell Connector - LG (ALL) EA
509-3045 3-7/8" Inter-Cell Connector - SL(160 AMP) EA
509-1045 3-7/8" Inter-Cell Connector - LG (160 AMP) EA
509-3030 4-3/8" Inter-Cell Connector - SL(11 PLT) EA
509-1030 4-3/8" Inter-Cell Connector - LG (11 PLT) EA
509-3021 5" Inter-Cell Connector - SL(13 PLT) EA
509-6021 5" Inter-Cell Connector - LG (13 PLT) EA
509-3025 6" Inter-Cell Connector - SL(15 PLT) EA
509-6025 6" Inter-Cell Connector - LG (15 PLT) EA
509-3041 17 Plate Endrow 4H - SL EA
509-6041 17 Plate Endrow 4H - LG EA
509-3042 19 Plate Endrow 4H - SL EA
509-1042 19 Plate Endrow 4H - LG EA
509-6043 21 Plate Endrow 4H - SL EA
509-1043 21 Plate Endrow 4H - LG EA
509-3044 23 Plate Endrow 4H - SL EA
509-1044 23 Plate Endrow 4H - LG EA
509-3050 25 Plate Endrow 4H - SL EA
509-1050 25 Plate Endrow 4H - LG EA
509-3052 27 Plate Endrow MH - SL EA
509-1052 27 Plate Endrow MH - LG EA
509-3215 3-3/4" Triple Hole Endrow - SL(29-33 PLT) EA Requires 2 Endrows
509-1215 3-3/4" Triple Hole Endrow - LG (29-33 PLT) EA Requires 2 Endrows
509-3200 3" Terminal Connector - SL EA
509-1200 3" Terminal Connector - LG EA
509-3205 3-3/4" Terminal Connector - SL EA
509-6205 3-3/4" Terminal Connector - LG EA
509-3210 3-3/4"Tri Post Terminal Connector - SL EA
509-1210 3-3/4"Tri Post Terminal Connector - LG EA

WWW.CROWNBATTERY.COM 6



[/7757 BATTERY \ SECTION D SHROUDS

PART NUMBER DESCRIPTION BOX QTY NOTES
510-1156 #1 BLUE SHROUD - Fits 2-3/4" Inter-cell 350 31/32" Center to Center
510-1161 #2 BLUE SHROUD 300 311/16" Center to Center
510-1166 #3 BLUE SHROUD - Fits 11 Plate Endrow 250 49/16" Center to Center
510-1171 #4 BLUE SHROUD - Fits 13 Plate Endrow 250 55/32" Center to Center
510-1176 #5 BLUE SHROUD - Fits 15 Plate Endrow 200 551/64" Center to Center
510-1181 #6 BLUE SHROUD - Fits 3", 3-1/8", 3-1/4" Inter-cell 350 313/64" Center to Center
510-1186 #7 BLUE SHROUD - Fits 17 Plate Endrow 150 9 47/64" Center to Center
510-1196 #9 BLUE SHROUD - Fits 19 Plate Endrow 150 10 23/32" Center to Center
510-1206 #11 BLUE SHROUD - Fits 21-23 Plate Endrow 150 12 3/4" Center to Center
510-1211 #12 BLUE SHROUD - Fits 25 Plate Endrow 150 13 25/64" Center to Center
510-1213 #13 BLUE SHROUD - Fits 29 Plate Endrow 125 19 718" Center to Center
510-1214 #14 BLUE SHROUD - Fits 31-33 Plate Endrow 125 20 5/16" Center to Center
510-1115 #15 BLUE SHROUD - Fits 27 Plate Endrow 125 15 1/16" Center to Center
510-1116 #16 BLUE SHROUD - Fits 27-29 Plate Endrow 70 151/16" Center to Center
510-1242 D375U BLACK SHROUD - 3-3/4" Double 90

510-1237 D375U RED SHROUD - 3-3/4" Double 90

510-1286 XS100LRED SHROUD 300

510-1287 XS100R RED SHROUD 300

510-1260 S100R RED SINGLE POSTSHROUD 300

510-1265 S100R BLACK SINGLE POST SHROUD 300

510-1270 S100L RED SINGLE POST SHROUD 300

510-1275 S100L BLACK SINGLE POSTSHROUD 300

510-1251 PVC RIGHT/RED SHROUD - 90 DEGREE 250

510-1252 PVC RIGHT/BLACK SHROUD - 90 DEGREE 250

510-1253 PVC LEFT/RED SHROUD - 90 DEGREE 250

510-1254 PVC LEFT/BLACK SHROUD - 90 DEGREE 250

510-1296 PVC RED SHROUD - 180 DEGREE 300

510-1297 PVC BLACK SHROUD - 180 DEGREE 300

510-5010 TERMINAL SHROUD RIGHT/RED 90

510-5015 TERMINAL SHROUD RIGHT/BLACK 90

510-5020 TERMINAL SHROUD LEFT/RED 90

510-5025 TERMINAL SHROUD LEFT/BLACK 90

510-5031 TERMINALSHROUD 3" BLUE 350

510-5032 TERMINALSHROUD 3-3/4" BLUE 300

510-5033 TERMINAL SHROUD 3 POST BLUE 250

WWW.CROWNBATTERY.COM 7



[/7757 BATTERY \ SECTION D SHROUDS

CONTINUED

PART NUMBER DESCRIPTION BOX QTY NOTES
510-1157 #1 BLACK SHROUD - Fits 2-3/4" Inter-cell 350 3-1/32" Center to Center
510-1162 #2 BLACK SHROUD 300 3-11/16" Center to Center
510-1167 #3 BLACK SHROUD - Fits 11 Plate Endrow 250 4-9/16" Center to Center
510-1172 #4 BLACK SHROUD - Fits 13 Plate Endrow 250 5-5/32" Center to Center
510-1177 #5 BLACK SHROUD - Fits 15 Plate Endrow 200 5-51/64" Center to Center
510-1183 #6 BLACK SHROUD - Fits 3", 3-1/8", 3-1/4" Intercells 350 3-13/64" Center to Center
510-1187 #7 BLACK SHROUD - Fits 17 Plate Endrow 150 9-47/64" Center to Center
510-1197 #9 BLACK SHROUD - Fits 19 Plate Endrow 150 10-23/32" Center to Center
510-1207 #11 BLACK SHROUD - Fits 21-23 Plate Endrow 150 12-3/4" Center to Center
510-1212 #12 BLACK SHROUD - Fits 265 Plate Endrow 150 13-25/64" Center to Center
510-1215 #13 BLACK SHROUD - Fits 29 Plate Endrow 125 19-7/8" Center to Center
510-1216 #14 BLACK SHROUD - Fits 31-33 Plate Endrow 125 20-5/16" Center to Center
510-1118 #15 BLACK SHROUD - Fits 27 Plate Endrow 125 15-1/16" Center to Center
510-1114 #16 BLACK SHROUD - Fits 27-29 Plate Endrow 70 15-1/16" Center to Center
510-5051 BH20 PVC Bushing - Red 1500

510-5052 BH20 PVC Bushing - Blk 1500

WWW.CROWNBATTERY.COM 8



(AT ey | SECTIONE LEADHEADS
PART NUMBER DESCRIPTION uom NOTES
509-1075 90 SGLLEADHEAD EA 5-7 Plate
509-1065 90 SGL LEADHEAD EA 9-15 Plate
509-1070 180 SGLPOST LEADHEAD EA

*These items cannot be sold separately. Pricing is for Crown Battery use only when pricing cable assemblies.

(L eaeRy \ SECTION F CABLES
PART NUMBER DESCRIPTION uom
513-1010 #1 BLACK CABLE (Qty 1000 ft per roll) FT
513-1005 #1 RED CABLE (Qty 500 ft per roll) FT
513-1020 #2 BLACK CABLE (Qty 750 ft per roll) FT
513-1015 #2 RED CABLE (Qty 500 ft per roll) FT
513-1030 #4 BLACK CABLE (Qty 50 ft per roll) FT
513-1025 #4 RED CABLE (Qty 50 ft per roll) FT
513-1040 1/0 BLACK CABLE (Qty 1000 ft per roll) FT
513-1035 1/0 RED CABLE (Qty 1000 ft per roll) FT
513-1050 2/0 BLACK CABLE (Qty 500 ft per roll) FT
513-1045 2/0 RED CABLE (Qty 500 ft per roll) FT
513-1060 3/0 BLACK CABLE (Qty 1000 ft per roll) FT
513-1055 3/0 RED CABLE (Qty 500 ft per roll) FT
513-1065 4/0 BLACK CABLE (Qty 500 ft per roll) FT
513-1067 4/0 RED CABLE (Qty 500 ft per roll) FT

WWW.CROWNBATTERY.COM



(o eerery \ SECTION G CABLE ASSEMBLIES
PART NUMBER DESCRIPTION FEET LEADHEAD O
513-3105 #1 Black Cable 5 90° One End 1
513-3115 #1 Black Cable 5 180° One End 1
513-3105-1 # 1 Black Cable 5 (5-7 PLT) One End 1
513-2067 #1 Black Cable 6 90° Both Ends 2
513-3119 # 1 Black Cable 6 180° One End 1
513-2075 #1 Black Cable 8 90° Both Ends 2
513-2105 #1 Black Cable 8 180° Both Ends 2
513-2077 #1 Black Cable 8 (5-7 PLT) Both Ends 2
513-2085 #1 Black Cable 10 90° Both Ends 2
513-2115 #1 Black Cable 10 180° Both Ends 2
513-3100 #1 Red Cable 5 90° One End 1
513-3100-1 #1 Red Cable 5 (5-7 PLT) One End 1
513-3116 #1 Red Cable 5 180° One End 1
513-2066 #1 Red Cable 6 90° Both Ends 2
513-3118 #1 Red Cable 6 180° One End 1
513-2070 #1 Red Cable 8 90° Both Ends 2
513-2100 #1Red Cable 8 180° Both Ends 2
513-2076 #1 Red Cable 8 (5-7 PLT) Both Ends 2
513-2080 #1 Red Cable 10 90° Both Ends 2
513-2110 #1Red Cable 10 180° Both Ends 2
513-1999 # 2 Black Cable 4 90° One End 1
513-1999-1 # 2 Black Cable 4 (5-7 PLT) One End 1
513-2006 #2 Black Cable 5 90° One End 1
513-2002 #2 Black Cable 5 180° One End 1
513-2006-1 #2 Black Cable 5 (5-7 PLT) One End 1
513-2008 #2 Black Cable 6 90° One End 1
513-2004 #2 Black Cable 6 180° One End 1
513-2008-1 #2 Black Cable 6 (5-7 PLT) One End 1
513-2015 #2 Black Cable 8 90° Both Ends 2
513-2021 #2 Black Cable 8 (5-7 PLT) Both Ends 2
513-2024 #2 Black Cable 9 90° Both Ends 2
513-2025 #2 Black Cable 10 90° Both Ends 2
513-2055 #2 Black Cable 10 180° Both Ends 2
513-2011 #2 Black Cable 10 (5-7 PLT) Both Ends 2

WWW.CROWNBATTERY.COM

10



(T

BATTERY | SECTION G CABLE ASSEMBLIES
PART NUMBER DESCRIPTION FEET LEADHEAD e
513-1998 #2 Red Cable 4 90° One End 1
513-1998-1 #2 Red Cable 4 (5-7 PLT) One End 1
513-2005 #2 Red Cable 5 90° One End 1
513-2001 #2 Red Cable 5 180° One End 1
513-2005-1 #2 Red Cable 5 (5-7 PLT) One End 1
513-2007 #2 Red Cable 6 90° One End 1
513-2003 #2 Red Cable 6 180° One End 1
513-2007-1 #2 Red Cable 6 (5-7 PLT) One End 1
513-2010 #2 Red Cable 8 90° Both Ends 2
513-2022 #2 Red Cable 8 (5-7 PLT) Both Ends 2
513-2019 #2 Red Cable 9 90° Both Ends 2
513-2020 #2 Red Cable 10 90° Both Ends 2
513-2050 #2 Red Cable 10 180° Both Ends 2
513-2012 #2 Red Cable 10 (5-7 PLT) Both Ends 2
513-3205 1/0 Black Cable 5 90° One End 1
513-3215 1/0 Black Cable 5 180° One End 1
513-3235 1/0 Black Cable 6 180° One End 1
513-3221 1/0 Black Cable 6 90° One End 1
513-2132 1/0 Black Cable 6 90°(17-19) One End 1
513-3241 1/0 Black Cable 7 90° One End 1
513-3246 1/0 Black Cable 7 180° One End 1
513-2135 1/0 Black Cable 8 90° Both Ends 2
513-2165 1/0 Black Cable 8 180° Both Ends 2
513-2145 1/0 Black Cable 10 90° Both Ends 2
513-2175 1/0 Black Cable 10 180° Both Ends 2
513-3200 1/0 Red Cable 5 90° One End 1
513-3210 1/0 Red Cable 5 180° One End 1
513-3234 1/0 Red Cable 6 180° One End 1
513-3220 1/0 Red Cable 6 90° One End 1
513-2131 1/0 Red Cable 6 90°(17-19) One End 1
513-3240 1/0 Red Cable 7 90° One End 1
513-3245 1/0 Red Cable 7 180° One End 1
513-2130 1/0 Red Cable 8 90° Both Ends 2
513-2160 1/0 Red Cable 8 180° Both Ends 2

WWW.CROWNBATTERY.COM

N




(T

BATTERY | SECTION G CABLE ASSEMBLIES
PART NUMBER DESCRIPTION FEET LEADHEAD e
513-2140 1/0 Red Cable 10 90° Both Ends 2
513-2170 1/0 Red Cable 10 180° Both Ends 2
513-2179 2/0 Black Cable 2 90° One End 1
513-2177 2/0 Black Cable 4 90° One End 1
513-2181 2/0 Black Cable 5 90° One End 1
513-3219 2/0 Black Cable 5 180° One End 1
513-3337 2/0 Black Cable 5 (5-7 PLT) Both Ends 2
513-3320 2/0 Black Cable 6 90° One End 1
513-2183 2/0 Black Cable 6 90° Both Ends 2
513-3335 2/0 Black Cable 6 180° One End 1
513-3328 2/0 Black Cable 7 90° One End 1
513-3341 2/0 Black Cable 7 180° One End 1
513-2195 2/0 Black Cable 8 90° Both Ends 2
513-3355 2/0 Black Cable 8 180° One End 1
513-2225 2/0 Black Cable 8 180° Both Ends 2
513-2205 2/0 Black Cable 10 90° Both Ends 2
513-2235 2/0 Black Cable 10 180° Both Ends 2
513-3362 2/0 Black Cable 10 180° One End 1
513-3364 2/0 Black Cable 12 180° Both Ends 2
513-2178 2/0 Red Cable 2 90° One End 1
513-2176 2/0 Red Cable 4 90° One End 1
513-2180 2/0 Red Cable 5 90° One End 1
513-3218 2/0 Red Cable 5 180° One End 1
513-3336 2/0 Red Cable 5 (5-7 PLT) Both Ends 2
513-3325 2/0 Red Cable 6 90° One End 1
513-2182 2/0 Red Cable 6 90° Both Ends 2
513-3330 2/0 Red Cable 6 180° One End 1
513-3327 2/0 Red Cable 7 90° One End 1
513-3340 2/0 Red Cable 7 180° One End 1
513-2190 2/0 Red Cable 8 90° Both Ends 2
513-3354 2/0 Red Cable 8 180° One End 1
513-2220 2/0 Red Cable 8 180° Both Ends 2
513-2200 2/0 Red Cable 10 90° Both Ends 2
513-2230 2/0 Red Cable 10 180° Both Ends 2

WWW.CROWNBATTERY.COM

12




BATTERY | SECTION G CABLE ASSEMBLIES
PART NUMBER DESCRIPTION FEET LEADHEAD e
513-3361 2/0 Red Cable 10 180° One End 1
513-3363 2/0 Red Cable 12 180° Both Ends 2
513-3426 3/0 Black Cable 5 180° One End 1
513-3428 3/0 Black Cable 5 180° Both Ends 2
513-3435 3/0 Black Cable 6 180° One End 1
513-3421 3/0 Black Cable 6 90° One End 1
513-3433 3/0 Black Cable 8 180° Both Ends 2
513-3436 3/0 Black Cable 10 180° Both Ends 2
513-3446 3/0 Black Cable 10 90° Both Ends 2
513-3447 3/0 Black Cable 10 180° One End 1
513-3450 3/0 Black Cable 10 90°(17-19) Both Ends 2
513-3441 3/0 Black Cable 12 180° Both Ends 2
513-3425 3/0 Red Cable 5 180° One End 1
513-3427 3/0 Red Cable 5 180° Both Ends 2
513-3430 3/0 Red Cable 6 180° One End 1
513-3420 3/0 Red Cable 6 90° One End 1
513-3432 3/0 Red Cable 8 180° Both Ends 2
513-3437 3/0 Red Cable 10 180° Both Ends 2
513-3445 3/0 Red Cable 10 90° Both Ends 2
513-3448 3/0 Red Cable 10 180° One End 1
513-3449 3/0 Red Cable 10 90°(17-19) Both Ends 2
513-3440 3/0 Red Cable 12 180° Both Ends 2
513-3535 4/0 Black Cable 6 180° One End 1
513-3555 4/0 Black Cable 180° One End 1
513-3545 4/0 Black Cable 180° One End 1
513-3559 4/0 Black Cable 10 90° Both Ends 2
513-3557 4/0 Black Cable 10 180° Both Ends 2
513-3533 4/0 Black Cable 10 90°(17-19) Both Ends 2
513-3562 4/0 Black Cable 10 180° One End 1
513-3530 4/0 Red Cable 6 180° One End 1
513-3550 4/0 Red Cable 8 180° One End 1
513-3544 4/0 Red Cable 9 180° One End 1
513-3558 4/0 Red Cable 10 90° Both Ends 2
513-3556 4/0 Red Cable 10 180° Both Ends 2
513-3534 4/0 Red Cable 10 90°(17-19) Both Ends 2
513-3563 4/0 Red Cable 10 180° One End 1

WWW.CROWNBATTERY.COM

13



(T

BATTERY ‘ SECTIONH BOLT-ON LUGS
PART NUMBER DESCRIPTION uom
509-3100 SGL Post Flag - 13 PL-SL EA
509-1100 SGL Post Flag - 13 PL-LG EA
509-3104 DBLFlag 3" Mono Large EA
509-3115 DBL Post Flag - 3-3/4" CC Side-SL EA
509-1115 DBL Post Flag - 3-3/4" CC Side-LG EA
509-3175 DBL Post Flag - Right 3" CC-SL EA
509-1175 DBL Post Flag - Right 3" CC-LG EA
509-3185 DBL Post Flag - Left 3" CC-SL EA
509-1185 DBL Post Flag - Left 3" CC-LG EA
509-3180 DBL Post Flag - Right 3-3/4" CC-SL EA
509-1180 DBL Post Flag - Right 3-3/4" CC-LG EA
509-3190 DBL Post Flag - Left 3-3/4" CC-SL EA
509-1190 DBL Post Flag - Left 3-3/4" CC-LG EA
509-6130 Lead Nut/Bolt EA
509-1125 Copper Lug 3/0 Lead Dipped - 5/16" Hole EA
509-1127 Copper Lug 4/0 (Brundy) - 1/2" Hole (Crimp-On) EA
509-3300 Cone 1 Post (5-15 PLT) SL EA
509-3310 Cone 3" 2 Post (17-19 PLT) SL EA
509-3320 Cone 3-3/4" 2 Post (21-27 PLT) SL EA
509-4100 Cone 1 Post (5-15 PLT) LG EA
509-4110 Cone 3" 2 Post (17-19 PLT) LG EA
509-4120 Cone 3-3/4" 2 Post (21-27 PLT) LG EA
509-8040 L Shaped Endrow Left - Large Hole EA
509-8041 L Shaped Endrow Right - Large Hole EA
509-8042 L Shaped Endrow Left - Small Hole EA
509-8045 L Shaped Endrow Right - Small Hole EA

WWW.CROWNBATTERY.COM

14



(T

BATTERY ‘ SECTIONH BOLT-ON IE(!NIHCNiUg
PART NUMBER DESCRIPTION uoMm
THIMBLE ASSEMBLY
509-2005 2/0 Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt 5/16-18 x 1-1/4 HH (18.8 SS)
CONE AND THIMBLE ASSEMBLY
509-3300 Cone 1 Post (5-15 PLT) SL
509-2005 2/0Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt5/16-18 x 1-1/4 HH (18.8 SS)
CONE AND THIMBLE ASSEMBLY
509-3310 (1) Cone 3" 2 Post (17-19 PLT) SL
509-2005 2/0Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt 5/16-18 x 1-1/4 HH (18.8 SS)
CONE AND THIMBLE ASSEMBLY
509-3320 (1) Cone 3 3/4" 2 Post (21-27 PLT) SL
509-2005 2/0 Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt5/16-18 x 1-1/4 HH (18.8 SS)
CONE AND THIMBLE ASSEMBLY
509-4100 Cone 1 Post (5-15 PLT) LG
509-2005 2/0Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt5/16-18 x 1-1/4 HH (18.8 SS)

WWW.CROWNBATTERY.COM

15



(Lo eaERy | SECTIONH BOLT-ON LUGS
PART NUMBER DESCRIPTION uoMm
CONE AND THIMBLE ASSEMBLY
509-4110 Cone 3" 2 Post (17-19 PLT) LG
509-2005 2/0 Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt 5/16-18 x 1-1/4 HH (18.8 SS)
CONE AND THIMBLE ASSEMBLY
509-4120 Cone 3 3/4" 2 Post(21-27 PLT) LG
509-2005 2/0Thimble (Bolt On)
509-1303 Flat Washer 5/16-18 x 10D x 16 SS
509-1302 Lock Washer 5/16 SS
509-1306 Bolt 5/16-18 x 1-1/4 HH (18.8 SS)
509-2175 3" "L" Disconnect R 3/8 Stud EA
509-2185 3" "L" Disconnect L 3/8 Stud EA
509-2180 3-3/4""L" Disconnect R 3/8 Stud EA
509-2190 3-3/4" "L" Disconnect L 3/8 Stud EA
509-2176 Single "L" Disconnect R 3/8 Stud EA
509-2186 Single "L" Disconnect L 3/8 Stud EA
509-2187 3""L" Disconnect Right Short 3/8 Stud EA
509-2191 3" "L" Disconnect Left Short 3/8 Stud EA
509-2188 Single “L" Disconnect Right Short 3/8 Stud EA
509-2192 Single "L" Disconnect Left Short 3/8 Stud EA
509-2189 3-3/4""L" Disconnect Right Short 3/8 Stud EA
509-2193 3-3/4" "L" Disconnect Left Short 3/8 Stud EA
509-8121 SIT"R" 3/8 Stud EA
509-8122 SIT"L" 3/8 Stud EA
509-2174 Connector 3 hole 2 stud PV EA
509-2173 Connector 3" 2 hole 2 stud PV EA
509-2172 Connector 3-3/4" 2 hole 2 stud PV EA
509-2177 Single 2 Bolt low flag PV EA

WWW.CROWNBATTERY.COM

16



@57 BATTERY

Ny ‘ SECTION | CONNECTORS & CONTACTS
PART NUMBER DESCRIPTION uom
514-5303 SB 50A. CONN #6 GRAY EA
514-5194 PP PAK RETAINING PIN EA
514-5290 340 GRAY HSG SB 2/0 EA
514-8002 SB PROTECTIVE BOOT 175A EA
514-5291 PP EXTENDED RANGE CONT. 2/0 EA
514-5193 PP 30 CNT. #12-16AWG EA
514-5274 DIN 160/320A. 6MM AUX. PIN EA
514-5275 DIN 160/320 A. 6MM AUX. SKT. EA
514-5335 350 BLACK HSG SB EA
514-5157 DIN 320A. 70MM - 2/0 PIN EA
514-5158 DIN 320A. 95MM - 3/0 PIN EA
§5-320-1104 DIN 320A/ 4/0 SKT. EA
514-5159 DIN 320A. 70MM - 2/0 SKT. EA
514-5156 DIN 320A. 95MM - 3/0 SKT. EA
514-5272 DIN 160/320A. HANDLE EA
SS-325AUXAWG DIN 320/160A SKTAUX KIT EA
514-5272 DIN 160/320A. HANDLE KIT EA
514-5192 PP 15/30-HSG-RED - 45 HOOD EA
514-5191 PP 15/30-HSG-BLK - 45 HOOD EA
514-5067 SB 350A. CONN. 2/0 GRAY EA
514-5066 SB 350A. CONN. 4/0 GRAY EA
514-5063 SB 350A. CONN. 3/0 GRAY EA
514-5071 SB 350A. CONN. 2/0 BLUE EA
514-5340 SB 350A. CONN. 4/0 BLUE EA
514-5078 SB 350A. CONN. 3/0 BLUE EA
514-5097 SB 350A. CONN. 2/0 RED EA
514-5342 SB 350A. CONN. 4/0 RED EA
514-5098 SB 350A. CONN. 3/0 RED EA
514-5081 SB 350A. CONN. YEL. 2/0 EA
514-5085 SB 350A. CONN. YEL. 4/0 EA
514-5083 SB 350A. CONN. YEL. 3/0 EA
514-5106 SB 350A. CONN. GREEN 2/0 EA
514-5341 SB 350A. CONN. GREEN 4/0 EA
514-5347 SB 350A. CONN. GREEN 3/0 EA

WWW.CROWNBATTERY.COM

17



(T

BATTERY ‘ SECTION | CONNECTORS & CONTACTS
PART NUMBER DESCRIPTION uom
514-5011 SB 175A. CONN. 1/0 GRAY EA
514-5320 SB 175A. CONN. 1/0 BLUE EA
514-5031 SB 175A. CONN. 1/0 ORG. EA
514-5036 SB 175A. CONN. 1/0 YEL. EA
514-5049 SB 175A. CONN. 1/0 RED EA
514-5120-X SBX 350 CONN. 2/0 GRAY EA
514-2131-X SBX 350 CONN. 3/0 GRAY EA
514-5125-X SBX 350 CONN. 4/0 GRAY EA
514-2125-X SBX 350 CONN. 2/0 BLUE EA
514-2132-X SBX 350 CONN. 3/0 BLUE EA
514-2121-X SBX 350 CONN. 4/0 BLUE EA
514-2149-X SBX 350 CONN. 4/0 RED EA
514-2134-X SBX 350 CONN. 3/0 GREEN EA
514-2148-X SBX 350 CONN. 4/0 GREEN EA
514-5189 SBE/X5AUX CONT. KIT EA
514-5120 SBX 350 CONN. 2/0 GRAY EA
514-5126 SBX 350 CONN. 2/0 BLUE EA
514-5126-3 SBX 350 CONN. 3/0 BLUE EA
514-5121 SBX 350 CONN. 4/0 BLUE EA
514-5127 SBX 350 CONN. 2/0 RED EA
514-5127-3 SYX'350 RED CONN 3/0 EA
514-5127-3 SBX 350 CONN. 4/0 RED EA
514-5125-3 SBX 350 CONN. 3/0 GREEN EA
514-5123 SBX 350 CONN. 4/0 GREEN EA
514-2123 SBX 350 HSG. GRAY EA
514-2122 SBX 350 HSG. BLUE EA
514-2124 SBX 350 HSG. RED EA
514-5190 SBE/X 320/350 CNT. SET 2/0 EA
514-5196 SBE/X'320/350 CNT. SET 3/0 EA
514-5188 SBE/X 320/350 CNT. SET 4/0 EA
514-2138 SBX 350 CONN. 2/0 BLACK EA
514-5119 SBX 175A. CONN. 1/0 RED EA
514-5112 SB 350A. CONN. ORG. 2/0 EA
514-5345 SB 350A. CONN. ORG. 3/0 EA

WWW.CROWNBATTERY.COM

18



(T

BATTERY ‘ SECTION | CONNECTORS & CONTACTS
PART NUMBER DESCRIPTION uom
514-5330 SB 350 GRAY HSG EA
514-5055 350 GRAY HSG SB 906 EA
514-5182 SB 350A CONT. 2/0 EA
514-5184 SB 350A CONT. 4/0 EA
514-5331 SB 350 BLUE HSG EA
514-5333 SB 350 RED HSG EA
514-5334 SB 350 YELLOW HSG EA
514-5183 SB 350A CONT. 3/0 EA
514-5109 SB 350 LOCKING HALF EA
514-5332 SB 350 GREEN HSG EA
514-5343 SB 350 ORANGE HSG EA
514-5310 SB 175 GRAY HSG EA
514-5023 175 BLUE HSG SB 941BK EA
514-5024 175 ORANGE HSG SB 942-BK EA
514-5312 SB 175 YELLOW HSG EA
514-5180 SB 175A CNT. SET 1/0 EA
514-5311 SB 175 RED HSG EA
514-5260 SBX 350 BAT. BRKT. W/HDW. EA
514-5166 EBC 320 BATT. BRKT. EA
514-5259 SBX 350 CHG./TRK. BRKT. + HDL EA
514-5165 EBC 320 CHG/TRK BRKT + HDL EA
514-5147 DIN 160A 50MM PIN EA
514-5148 DIN 160A 50MM SKT EA
514-5282 DIN 160/320A HDL. + LEVER ASSY EA
514-5278 DIN 160/320A HANDLE EA
514-5278 DIN 160/320A HANDLE EA
514-5167 DIN 320A70MM PIN EA
514-5167 DIN 320A 70MM PIN EA
514-5152 DIN 320A 95MM PIN EA
514-5168 DIN 320A 70MM SKT EA
514-5151 DIN 320A 95MM SKT EA
514-8332 SBE 320A CONN. 3/0 BLACK EA
514-8321 SBE 320A CONN. 2/0 BLACK EA
514-5141 E DIN 80A 16MM SKT EA

WWW.CROWNBATTERY.COM

19



(T

BATTERY ‘ SECTION | CONNECTORS & CONTACTS
PART NUMBER DESCRIPTION uom
514-5021 CONNECTOR - SINGLE BLUE 180 AMP EA
514-5054 HANDLE EA
514-5110 LOCKING HANDLE EA
514-5110 HDL + PLATE ASSY COATED EA
514-5130 EC CONN 4/0 EA
514-5000 50 GRAY CONN 10-12 EA
514-5000 50 GRAY CONN 8 GA EA
514-5065 350 GRAY CONN 2/0 EA
514-1000 350 GRAY CONN 4/0 EA
514-1003 350 GRAY CONN 1/0 EA
514-5340 350 BLUE CONN 4/0 EA
514-5079 350 BLUE CONN 1/0 EA
514-5094 350 RED CONN 1/0 EA
514-5080 350 YELLOW CONN 1/0 EA
514-5083 350 YELLOW CONN 3/0 EA
514-5104 350 GREEN CONN 1/0 EA
514-5001 50 RED CONN #10-12 EA
514-5120-3 SBX 350 GRAY CONN 3/0 EA
514-5125 SYX 350 GRAY CONN 4/0 EA
514-5127-3 SYX 350 RED CONN 3/0 EA
514-5117 SYX 175 GRAY CONN 1/0 EA
514-5348 350 AMP ORANGE 1/0 EA
514-5182 CONTACTKIT 350 2/0 EA
514-5254 HANDLE KIT SB175/350 EA
514-5183 CONTACTKIT 350 3/0 EA
514-5181 CONTACTKIT 350 1/0 EA
514-5113 350 ORANGE HSG EA
514-5180 CONTACTKIT1751/0 EA
514-5237 CABLE KIT - CLAMP EA
511-1125 CABLETIE 8-1/8 IN EA
514-5255 HANDLE KIT (GRAY) EA
514-5238 CABLE KIT - CLAMP EA
514-8310 SYE 160 BLK CONN 35MM EA

WWW.CROWNBATTERY.COM

20



[/7727 BATTERY \ SECTION J VENT CAPS

PART NUMBER DESCRIPTION uom BOX QrY
503-1006 Bayonet Vent Cap - Yellow EA 1800
503-1030 Flip Vent Cap - Watermiser Yellow EA 250
503-1035 Flip Vent Cap - ECON-O Yellow EA 500
503-1050 Flip Top High-Blue (5-15, 29-33 PLT) EA 1000
503-1055 Flip Top Low-Blue (17-27 PLT) EA 1000
503-1060 Crown Vent Cap-Flip Top Yellow/Blue EA 500
503-1009 Vent Cap - Orange EA 1800
503-1061 Flip Top Vent Cap - Orange EA 500

WWW.CROWNBATTERY.COM 21



[/7727 BATTERY \ SECTION K OPERATING SUPPLIES

PART NUMBER DESCRIPTION uoMm
109-1060 24" Lead Sticks EA
110-2010 New S3 Lead 3% (60 Ibs. Per pig, 35 pigs per skid) LB
511-1125 Cable Tie-HD 8" Acid Proof EA
511-1000 IND. Sealing Compound (760) 100 Ib. Roll RL
511-1100 1/4" Worm Compound 5 Ib. Roll RL
511-1105 1/8" Worm Compound 5 Ib. Roll RL
511-1110 3/4" Shrink Tubing (300" in a Roll) IN
511-1115 1-1/10" Shrink Tubing (300" in a Roll) IN
RJM-PCBUTTONMOLD Post/Cover Button Mold EA
RJM-CABLEBUTTONMOLD Cable Button Mold EA
RIJM-SMBURNINGRING Small Intercell Burning Rings (4-3/8",5",6" & 180°) EA
RJM-LGBURNINGRING Large Intercell Burning Rings (3, 3-1/4", 3-7/8") EA
RJM-LHBURNINGRING Leadhead Burning Ring EA
RJM-LGBURNINGMOLD Large Intercell Burning Mold & Repair Dam (3", 3-1/4", 3-7/8") EA
RJM-SMBURNINGMOLD Small Intercell Burning Mold & Repair Dam (4-3/8", 5", 6") EA
506-1055 Basic Battery Care Labels (250 on a roll) EA
506-1042 Label - Bilingual Hazard/ Poison EA
506-1070 Small Corrosive Labels 4" x 4-1/2" EA
506-1019 Label-Ind. ID/Serial Number EA
506-1021 Label- Serial Number Under Shroud EA
506-1022 Label- Model Number Under Shroud EA
506-1090 H2Go Label Large (250 on a roll) EA
506-1095 H2GO Label Small (250 on a roll) EA
506-1080 Large Crown Label (250 on an roll) EA
506-1082 Medium Crown Standard Label (250 on a roll) EA
506-1085 Small Crown Label (250 on a Roll) EA
506-1100 Fast Charge Label Small (250 on a roll) EA
506-1105 Fast Charge Label Large (250 on a roll) EA
506-1075 Quad Pro Label (250 on a roll) EA
506-1303 Large C-Line Label (8.5X14) EA
506-1302 Medium C-Line Label (6X9) EA
506-1301 Small C-Line Label (4X6) EA
506-1307 Large V-Line Label (8.5X14) EA
506-1306 Medium V-Line Label (6X9) EA
506-1305 Small V-Line Label (4X6) EA
506-1320 Large Max Oval Label (250 on a roll) EA
506-1321 Medium Max Oval Label (250 on a roll) EA
506-1322 Small Max Oval Label (250 on a roll) EA

WWW.CROWNBATTERY.COM 22



BATTERY \ SECTION L CHEMICALS
PART NUMBER DESCRIPTION SIZE UoM
516-2500 Battery Cleaner 12 x 32 Ounce (RTU) Case
516-2501 Battery Cleaner 5 Gallon Pail (RTU) Each
516-2516 Battery Cleaner 55 Gallon Drum (RTU) Each
516-2505 Corrosion Remover 12 x 32 Ounce (RTU) Case
516-2507 Corrosion Remover 5 Gallon Pail (RTU) Each
516-2524 Battery Acid Abs. 5 Gallon Pail Case
WWW.CROWNBATTERY.COM 23



(T

BATTERY ‘ SECTIONM  BATTERY WATERING TECHNOLOGIES
PART NUMBER DESCRIPTION uoMm
518-0600-TB4 6 Cell Profile Series Kit EA
518-0900-TB4 9 Cell Profile Series Kit EA
518-1200-TB4 12 Cell Profile Series Kit EA
518-1800-TB4 18 Cell Profile Series Kit EA
518-2400-TB4 24 Cell Profile Series Kit EA
516-7104 Electrolyte Level Sensor EA
BWT-DF72 Direct Fill Link w/ Standard Blue Connector EA
BWT-GHAN2 Handle for Standard Direct Fill Link EA
BWT-L70654 Quick Connect - Female End EA
BWT-L70655 Quick Connect Adapter - Male EA
BWT-09FBLU1 BFS Blue Female 3/8" Connector EA
BWT-09GRF1 3/8" (10mm) Female Connector - Grey EA
BWT-09FRTL72 Replacement Front End Assembly w/ Blue Connector EA
BWT-09FRTL72F Replacement Front End Assembly w/ Flowrite Connector EA
BWT-09FRTL72G Replacement Front End Assembly w/ Grey Connector EA
BWT-NT2000G 5 Gallon (18.93 Liter) Gravity Feed Delivery Tank (complete) w/ Grey Connector EA
BWT-NT2000GN 5 Gallon (18.93 Liter) Gravity Feed Delivery Tank (complete) w/ Blue Connector EA
BWT-NT2212GF 2.5 Gallon (9.46 Liter) Gravity Feed Delivery Tank w/ Blue Connector EA
BWT-NC5250P 25 Gallon (94.64 liter) Watering Cart (complete) w/ Grey Connector EA
BWT-NC5250PN 25 Gallon (94.64 liter) Watering Cart (complete) w/ Blue Connector EA
BWT-NC5090PF 9 Gallon (34 liter) Portable Tank Aqua Sub Jr. with Flow-rite Connector EA
BWT-PWW-1600 ;ﬁggnﬁggmtﬁg(ﬁtr;iléggvnﬁed rﬁztn(éobr};ellfjgs)purity light, 12 ft. supply hose &6 ft. delivery hose FA
BWT-PWRC-1800 1800 Gallon De-ionizer Cartridge Replacement EA

WWW.CROWNBATTERY.COM

24



SWCETo2t ‘ SECTIONM  BATTERY WATERING TECHNOLOGIES

@Lﬂ? BATTERY

CONTINUED
PART NUMBER DESCRIPTION uoMm
BWT-09FBLU1 BWT Blue Female 3/8" (10mm) Connector EA
BWT-09FBLU6 BFS Blue Female 1/4" (6 mm) Connector EA
BWT-09FBLUT3 Threaded Female Connector - Blue EA
BWT-09MBLU2 BFS Blue Male 3/8" (10 mm) Connector EA
BWT-09MBLU1 Blue Male 1/4" (6mm) Connector EA
BWT-09MJUMP Mate Kit w/ Male Grey Connector (09GRM6) to Female Blue Connector (09FBLU1) EA
BWT-09BDCAP Dust Cap EA
BWT-09FUV6 Flowrite Male 1/4" (6 mm) Connector EA
BWT-09FUV1 Flowrite Male 3/8" (10 mm) Connector EA
BWT-09FUM1 Flowrite Female 3/8" (10 mm) Connector EA
BWT-09CUV6 1/4" (6 mm) Watermaster Connector - Male EA
BWT-09CUM6 1/4" (6 mm) Watermaster Connector - Female EA
BWT-08T666N Tee 6/6/6 - Clampless EA
BWT-08TUB6 1/4" (6 mm)Tubing (sold but the foot or roll) (300 ft per roll) FT
BWT-08TUB1 3/8" (10 mm)Tubing (sold by the foot or roll) (100 t per roll) FT
BWT-TUBECUT Tubing Cutter EA
BWT-08CAP6 End Piece 6mm EA
BWT-09FWM1 3/8" (10mm) Flow Indicator EA
BWT-09FWM6 1/4" (6 mm) Flow Indicator EA
BWT-09HYCT Hydrometer (Range 1.10-1.30) EA
WWW.CROWNBATTERY.COM 25



ATy eeERY | SECTION N FLOW-RITE
PART NUMBER DESCRIPTION uoMm
518-BK-1C0-201-506 6 Cell Millennium Pre-cut Kit, Black Length Valves EA
518-BK-1C0-201-509 9 Cell Millennium Pre-cut Kit, Black Length Valves EA
518-BK-1C0-201-512 12 Cell Millennium Pre-cut Kit, Black Length Valves EA
518-BK-1C0-201-518 18 Cell Millennium Pre-cut Kit, Black Length Valves EA
518-BK-1C0-201-524 24 Cell Millennium Pre-cut Kit, Black Length Valves EA
518-BK-1C0-201-536 36 Cell Millennium Pre-cut Kit, Black Length Valves EA
518-BK-1C0-201-540 40 Cell Millennium Pre-cut Kit, Black Length Valves EA
FR-BA-MS-320-20 Regulated Hose System (20 Foot Hose) (BA-MS-325-20) EA
FR-BA-MS-320-05 Regulated Hose System (5 Foot Hose) (BA-MS-320-05) EA
FR-BA-MS-320-00 Regulated Hose System (w/o Hose) (BA-MS-325-00) EA
FR-BA-MS-702 Gravity Water Supply w/o Automatic Refill (BA-MS-702) EA
516-2109 Level Lite (qty 1-24) (BA434) 1-24
516-2110 Water Monitor Remote- Eagle Eye (BA-494) EA
516-2111 Water Monitor - Eagle Eye (BA-491) EA
FR-BA-013 Water Supply Converter, Philadelphia Scientific to Millennium EA
FR-BA-MS-115 Watering Cart, Blue DC Powered EA
FR-BA-MS-320-05 Millennium Regulated Hose Supply with 5-Ft. Hose EA
FR-BA-MS-320-20 Millennium Regulated Hose Supply with 20-Ft. Hose EA
FR-BA-MS-606 Portable Water Supply, 12VAC EA
FR-BA-MS-634 Hand Pump EA
FR-BA-MS-702 Gravity Water Tank with Mounting Bracket & No Auto-Refill EA
WWW.CROWNBATTERY.COM 26



(T

BATTERY ‘ SECTIONN FLOW-RITE
CONTINUED
PART NUMBER DESCRIPTION UoM
FR-BA-QDV-505 Millenium/ Snap Fill Quick Coupler (clampless) EA
FR-BA-QDV-805 Philly Quick Coupler EA
FR-BA-C10-21-6P Valve, Bayonet Cap Style, Black, gty 6 EA
FR-BA-C10-11-6P Valve, Bayonet Cap Style, Yellow, qty 6 EA
FR-BA-C10-31-6P Valve, Bayonet Cap Style, Red, qty 6 EA
FR-BA-C10-41-6P Valve, Bayonet Cap Style, White, gty 6 EA
FR-BA-QDV-405 Coupler, BWT Blue, Male 1/4" Barb, Dust Cover EA
FR-BA-QDV-500 Coupler, FRC, Male 3/8" Barb, Dust Cover EA
FR-BA-QDV-505 Coupler, FRC, Male 1/4" Barb, Dust Cover EA
FR-BA-QDV-805 Coupler, Philly Sci, Male, 1/4" Barb, Dust Cover EA
FR-BA-142-10 Swivel Connector with O-Ring (BA-142) PK of 10 PK
FR-BD-00280-25 Red Swivel TEnd Plug (BD-280) PK of 25 PK
FR-BD-T14 Clampless Tubing (BD-T14) FT
FR-BD-00204-10 0-Ring, 35P Adapter, 10 Packl EA
FR-BA-FLW-60 Flow Indicator EA
FR-BA-FLW-80 Flow Indicator w/Male Thread EA
FR-BA-007 Tube Cutter EA
FR-BA-047 Hydrometer for Flooded Lead-Acid Batteries EA
FR-BA-065 Gefo s/th Hydrometer for Flooded Lead-Acid Batteries EA
FR-BA-107 Drill Bit for Cell Inspection Holes EA

WWW.CROWNBATTERY.COM

27



[/7727 BATTERY \ SECTION O PHILADELPHIA SCIENTIFIC

PART NUMBER DESCRIPTION uom
518-INJ-S6 Water Injector Classic System, 6 cell, Semi-Assembled EA
518-INJ-S9 Water Injector Classic System, 9 cell, Semi-Assembled EA
518-INJ-S12 Water Injector Classic System, 12 cell, Semi-Assembled EA
518-INJ-S16 Water Injector Classic System, 16 cell, Semi-Assembled EA
518-INJ-S18 Water Injector Classic System, 18 cell, Semi-Assembled EA
518-INJ-S20 Water Injector Classic System, 20 cell, Semi-Assembled EA
518-INJ-S24 Water Injector Classic System, 24 cell, Semi-Assembled EA
PS-INJ-HCT Hydro Cart, 20 Gallon, Mobile, A/C Powered EA
PS-INJ-MINI Hydro Cart, 8 Gallon, Mobile, A/C Powered EA
PS-INJ-DF Direct Fill Hose Assembly EA
518-FLT-K6 Stealth Float Valve Kit for 6 Cell Battery EA
518-FLT-K9 Stealth Float Valve Kit for 9 Cell Battery EA
518-FLT-K12 Stealth Float Valve Kit for 12 Cell Battery EA
518-FLT-K18 Stealth Float Valve Kit for 18 Cell Battery EA
518-FLT-K20 Stealth Float Valve Kit for 20 Cell Battery EA
518-FLT-K24 Stealth Float Valve Kit for 24 Cell Battery EA
518-FLT-K36 Stealth Float Valve Kit for 36 Cell Battery EA
518-FLT-K40 Stealth Float Valve Kit for 40 Cell Battery EA
PS-FLT-DC12 12 Volt DC Mobile 10-Gallon Watering Cart for Stealth Float System EA

WWW.CROWNBATTERY.COM 28



[/7727 BATTERY \ SECTION O PHILADELPHIA SCIENTIFIC

CONTINUED

PART NUMBER DESCRIPTION uom
PS-FLT-DL Direct Fill System for Stealth Float System EA
PS-FLT-GT 5 Gallon Gravity Tank for Stealth Watering System EA
516-2119 Smart Blinky Remote Electroylyte Monitor 2.29" (ACC-SREM3-S) EA
516-2120 Monitor - Smart Blinky 2.35" (ACC-SWM3-S) EA
516-2121 Battery Watering Monitor 2.35" (ACC-BWM3-S) EA
516-2125 Smart Blinky Pro, Probe Length 2.35" (ACC-SWP-C) EA
PS-GUN-X Watering Gun X EA
PS-GUN-S Watering Gun, Stationary, Non-Auto EA
PS-CRT-12V Watering Cart 10 Gallon 12 Volt DC (Battery Included) EA
PS-PS-300 Deionizer System EA
PS-PS-600 Super Cartridge, Deionizer, 600 Gallon EA
PS-INJ-198 Tubing, Injector Type <5>, 25 feet EA
PS-INJ-212 Clamp, Vacuum Breaker, (25/pack) EA
PS-INJ-465 Repair Coupling (12 Pack) EA
PS-INJ-CP10 Coupling Quick Connect INJCP10 EA
PS-INJ-FC Flow Checker EA
PS-INJ-L1 Injector EA
PS-INJ-435 Pressure Regulator, 35 PSI INJ-435 EA
PS-INJ-607 Instant Valve Pro (brass) EA

WWW.CROWNBATTERY.COM 29



(T

BATTERY ‘ SECTIONP  BATTERY EQUIPMENT SUPPLY

SINCE 1926

PART NUMBER DESCRIPTION uom
BE-8704 Cable Retractor - Wall Mount (8704) EA
BE-8700 Cable Retractor - Charger Mount (8700) EA
BE-122 Lifting Beam EA
BE-BP-1 Hollow Post Drill EA
BE-18-24-3 PVC Syringe EA
BE-30-350 Forklift Attachment EA

V=70

BATTERY ‘ SECTION Q CHARGING TECHNOLOGIES

PART NUMBER DESCRIPTION uom
516-8272 Tobi PI WI-z (Uninstalled) EA
516-8272 Tobi PI WI-z (Installed) EA
(T-046-0301 Control LCD w/ directional keypad EA
CT-P46-271 Control 4 button, LCD display EA
CT-P46-272 LCD, 16 button control EA
CT-P46-267 Automatic Program 3 digit LED display EA
CT-P46-368 Automatic Program/LCD display EA
(CT-P46-303 Control LCD w/ directional keypad & communication EA
(1-038-424 Charger Stand 501/551/701/801 EA
(T-019-353 Pogo Stick - Cable Management EA
(T-038-423 500 Case Charger Stand EA
(T-038-425 502 Case Charger Stand EA
(1-038-452 501 Case wall mount EA
(T1-038-408 500/501 Case Wall Mount EA

WWW.CROWNBATTERY.COM




(AT eaTiERY | SECTIONR ECOTEC
PART NUMBER DESCRIPTION uom
516-8269 BMU Pro (Uninstalled) EA
516-8269 BMU Pro (Installed) EA
ET-902108-102 USB Gateway w/ Software EA
ET-60048 USB Gateway w/o Software EA
ET-11280080 Short Stand for 30, 300C, 31, 310C, 33,330C EA
ET-60024 Tall Stand for 30, 300C, 31, 310C, 33, 330C EA
ET-11280079 Short Stand for 32, 320C EA
ET-60096 Tall Stand for 32, 320C EA
ET-60124 20" Stand for all -34 Shelf Mount Charger EA
ET-60228 32" Stand for all -34 Shelf Mount Charger EA
ET-60244 50" Stand for all -34 Shelf Mount Charger EA
ET-60032 Bracket, Pogo Mount (for stands listed above.) EA
ET-CSHF-76X10-2C MTC1 or 2 charger stand EA
ET-CSW-2 Wall Mount Bracket for -34 Shelf Mount & EP EA
ET-60047-001 Pogo Stick Cable Retractor w/ Bracket EA
ET-60046-001 Pogo Stick Cable Retractor w/o Bracket EA
ET-8001339 Primary Board, 8kw, 480v (Replaces 8001271) EA
ET-8001281 Secondary Board, 5kw, 24v EA
ET-8001309 Primary Board EA
ET-8001337 10/20KW Primary Board (replaces 8001300) EA
ET-8001343 Primary Board - Low Voltage EA
ET-8002009* Control Board (replaces 8002003, 8001303) EA
ET-60070 Overlay, Crown PowerHouse, Blue EA

*Provide model number and serial number of unit when ordering.

WWW.CROWNBATTERY.COM

31




The Power Behind Performance

Lo

7 BATIERY

SINCE 1926

1445 Majestic Drive | P.O.Box 990
Fremont, OH 43420

+1.419.334.7181
sales@crownbattery.com

WWW.CROWNBATTERY.COM
©2022 CROWN BATTERY MFG. COMPANY



